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Directions (16-20): Study the following graph
carefully and answer the questions given
below it.

Production of sugar (in thousand tons) by
three different sugar factories over the years

Bl

1993 1904 1985 1996 1997 1998 1999
YEARS

16. For which of the following pairs of years

17.

18.

18.

the total production of the three
companies together Is equal?

{A) 189831884 (B) 18951997

(C) 1996-1908 D) 1994-1995

1) (B)only 2y (C)only

3) (D) onky 4) * Both (C)and (D)

5) Both (B)and (C)

In which of the following years for
company 'A’ the per cent rise/fall from the
previcus year is the maximum?

1) 1996 2) 1993

3 1995 4) 1998

5 Moneofthese

Average production per year for
company ‘B’ is approximately what per
cent of the average production per year

for company 'C'?

1) 105% 2) B5%
3 107% - 4 93%
5 97%

What is the per cent rise in production of
company 'C’ In 1986 from 19957

1 20% 2) 22%
3 18% 4) 15%
5) MNone of thesa

What is the difference between the
average production of 'the three
companies together in 1987 and the
average production of the thres
companies together in 1999 in thousand
tons?

1) 20 2 15

3 7 & 22

5 Noneof these
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Directions (26-30): Study the following table
carefully and answer the question given below.
Marks abtained by seven students in different
subjects in their annual school examination.
Maximum marks is given in bracket.

StudentiSubject] A | B | C| D] E| F| G
Physics (100) | 65| 58 | 73| 75 | 68 | 56 | 51
Chamistry (100)] 55 | 63 | 60 | 52 | 71 | 48 | 72 |
Maths (150) 132|105]141]128] 119 120]135
_Emﬂ',’;, 200) _|128]126|162| 144|150 118]132
[English_(50) 32| 27|33 |21 |29 35| a7
[Biclogy (150) | 105| 88 |112|106]118]107] 96
Total (750} 531|477|590|546|556|485]523

26. Approximately what is the maximum
difference between the percentage of
total marks obtained by any bwo students?

1 15 2) 10
3 112 4 A7
5) 14
2Z7. Approximately what is the average of
marks obtained by the seven students in
Biology?
1 126 2y 16 \ &

3) 106 4) 96
! 2 61

5 102
28. What is the difference between the
percentage of marks obtained by student
- E im Chemistry and Maths together and

the percentage of marks obtained by 4]
student "A" in Social Studies and English 3 65 4) 66
. 5 &
1 6 - 2) 8 30. What s the percentage of marks obtained
3 12 - 4 14 - . by student 'F' in Biology, English and
S} MNone of these o Social Studies together?
29. Approximately what are the average 1) 58 2) 56
marks obtained by the seven students in 3 68 4) 85
Physics? 5} Mone of these

Y
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Directions (36-40): Study the graph carefully
and answer the questions given below It.
7O -

60 55 oy 80 55
s0 ] 45 485
g 40 0 50 50 50
o 30440 35 e
20 - —--—-i
10 -
0

1993 1994 1995 1998 1987 1998
Years

36. The income of Company B in the year
1994 was Rs. 108000/-, How much was
expenditure in that year?
1) Rs.S00000 - 2) Rs. 80000
3) Rs. 185000 4) Rs. 1BED|II
5 Mone of thesa
Company A spent R=.3,50,000 in the year
1995. Find out the income of Company A
in that year.

38

40,

3) Rs. 1551250 4)
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1) Rs. 1542500 2)
3 Rs. 1525800 4)
5 Noneofthese
Iftha expenditures of both the Companies
A and B in the year 1997 was aquivalent,
then what was the ratio between the
income of Company A to Company B?
1 15:86 2y 6:15

3 16:5 4 15:8

5) MNoneof thase
Inﬂihhnlﬂ-hlluﬁﬂgymmﬂu
maximum percentage of growth/decline
with respect to the previous year In case

Rs.15,25,000
Rs. 12,33.000

of Company B7
1) 1997-88 2) 1994.95
3) 199697 4) 199506

5 Mone of these

The expenditure of Company A iin the year
was Rs.2,50,000 and the Income of 1995
was the expenditure in the year 1996.
Find out its income in the year 1996.

1) Rs. 1387500 2) Rs. 15,112,500
Rs.15,87,.500

5)  None of thesa

Directions (47-45);: Study the given table carefully and answer the guestions given balow.
The given table represents the no. of candidates appeared and qualified -

during 1991t0 1996 from 6 states.
Year 1591 1902 1883 1994 1995 1996
State app. | qual. | app. |qual | app. |qual. | app. |qual. | app. |qual. | app. | qual
A 5800 | B40 | 7250 | 925 | B250 | A7S | 7RSS |-B24 | 8349) o322 | Tosd
B 7200 ) B64 | B100 | 640 | 78G5 | TO2 | B425| BOG | 7658 878 | 8107 | 940
c 4850 | 588 | 6450 | 650 | 7120 | 685 | 7TVG3 | 735 | 6084 792 | TOS8| 82T
D G325 | 745 | T1B5 | T95 | B545 | B42 | GOAT | BOB | 589G| 685 | G754 | T46
E 5200 | 640 | 6225 | 685 1 7962 | 934 | 7645 | 888 | 7389| B43 | TrE6| B12
F 6500 | B20 | 7380 | 860 | 6BO5 | TBB | TB44 | TEZ | B105| 798 | 8934 | oM
41. In which of the given years the No. of 1) 8915 2) 10692
candidates appeared from state D has 3 10962 4 9615
maximum percentage of qualified 5 Noneofthese
:'"?:;.2““ 1905 43. The percentage increase/decrease in the
) 993 2 994 number of the appeared to the qualified
3 1 49 1 candidates in the state B is __in 1991.
42. What Is the difference between total 3 250 4 1.00
candidates appeared In six states in the 5 150

year 1991 and 19937
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44, What is the difference between total”
qualified candidates in six states in the
yeaears 1993 and 19967
1) 27 2) T2
3) 168 4) 226
5 MNone of these

45. What is the per cent of the total qualified
candidates to the total number of
appeared candidates among all the six

states in 19967

1) 15 2 N
3 19 & 13
5 14
Answers
16. ) Year Total Production (in ‘000 tons)
140
i l___
[e}—o
165 ()
210
. BothCand D

17. (1) 1995 — increases by 50%
L., (40 fo 60) thousand tons.

26. (1) Maximum marks obtained = 590 = 78.6%
Minimum marks obtained = 477 = 63.6%
s Maximum difference of percentage of
marks = 15% :

410 ZT. [3) Average marks in Biology
18. &) Awnni.pm&ﬂmdﬂ-—.rilﬂ.ﬂ _ 105+98+112+106+119+107 +96
T
440

Ammﬂ.ﬂmufﬂtv-f-m'

= ?;—311M.14-1Uﬁ
28. (2) Marks of E (Chemistry + Maths) =

. 410 71+119=190
7 190
.~.nqmm-75-nmm Percentage marks = 2 x100=76%

= : Marks of A (Social Studies + English) =
138 + 32 =170
Percentage marks

19. (5 Required percentage = e+ 100 170 L e
ﬂw = 250 =

75-60

.. Difference Inpamantagahm

— =76 —GB = 8%
- 60 x100 =25% 29. (5) Average marks in Physics
20. (2) Average production of three companies in _ B5+58+73+75+68+56+51
. - 7
165
1HT=TI55 =$=63.?1-H
30. (4) Marks of F (Biology + English + Social
h"m‘ﬂ'ﬂ} Studies) = 107 + 35 + 118 = 260
3

. Difference =70-55=15

260
Percentage marks =

200 * 100=65%
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.9 7. (5 3B B
3.(5  40. (5

41. (4) In 1994 — 898 (maximum)
42. (3) In 1991 — 5600 + 7200 + 4850 + 6325 +
5200 + 6500 = 35675
In 1993 — 8250 + 7865 + 7120 + 8545 +
T962 + 6895 = 46637
Difference = 46637 — 35675 = 10962
43. (1) Decreasa s by 24
Increase is by 1900
mwm=%=im
44. (2) In1993 —BTE+TI2+6A5+ 842 +934 +
TBA=4017
In 1986 — B53 + 840 + B27 + T46 + B12 +
911=5089 .
Differance = 5080 - 4817 =172
45, (2) Required percentage

= %:1%1&%-—-11%
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